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Proporcje 

Rozwiąż poniższe równania w zeszycie i pokoloruj pola zgodnie ze wzorem, aby odkryć ukryty 

obrazek. 
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Rozwiązanie 

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

                              

 

 

1) 𝑥 = 4 

2) 𝑥 = 3 

3) 𝑥 = 7 

4) 𝑥 = 6 

 

 

 

 

5) 𝑥 = 5 

6) 𝑥 = 2 

7) 𝑥 = 9 

8) 𝑥 = −4 

 

 

 

 

9) 𝑥 = 10 

10) 𝑥 = 0 

11) 𝑥 = −6 

12) 𝑥 = −1 

 

 

 

 

13) 𝑥 = −10 

14) 𝑥 = −3 

15) 𝑥 = −7 

16) 𝑥 = −8 


